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Please make sure that the printed pages in this question paper are 7 in number and

it contains 39 questions.
° U794 4 G4 HYT 79 T4 FIS T F HH FO-Yawl & JEI-g G7 frd)

The Code No. on the top of the question paper should be written by the candidate

on the front page of the answer-book.
o FYT T F T [TGT & BT G Ye, T B HHE ST [

Before beginning to answer a question, its Serial Number must be written.
o Fuv-giasr & dia 7 @l G/ 7 7 818/

Don’t leave blank page/pages in your answer-book.

o FTCYRTH B SANFT FF o dic Ta [ ST FTITRATAN & [ Y frEr Fav T
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Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
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Candidates must write their Roll Number on the question paper.

o FUI F9T F FAT 37 @ §7 98 FARTGT #T d & FeT9H [ T & 8, ThEr # IIT 59

G & g off arar e T& Bar w@Tm

Before answering the question, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.
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g97 FHE 1 @3 F @ I3 & 597 &7 0 95 TH 797 Hfqard &

Attempt any two questions from Question Nos. 1 to 3. Rest are compulsory.

Rllbe RIEeH &1 & 7 6% aRge & ave |

What is Lubrication system ? Explain its objectives.

Wi oy #1237 39% At 1 v B]

What is Steering system ? Explain its functions.

ae% g § fnen, fiea X SR § FE B ave |

Explain role of education, media and government in road safety.

% U & HT HROT ¢ °

What are major causes of road accident ?

qrg Tgu 9X fewe ford |
Write note on Air Pollution.
HERET aedl 9x fewelt g

Write note on Commercial Vehicles.
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el @ ffor 99 arest &1 avie &

Explain any two construction equipment vehicles.

ared F afdg @ AQwarett &1 quie w1

Explain the importance of vehicle servicing.

aed B ST B BA TOET o THAT & 7

How life of a vehicle can be extended ?

SArAfagarel @M % YO H aoF H

Explain the qualities of self confident people.

J-ae FERT F1 2 7

What is non-verbal communication ?

LI Bl ATHAT M & 7

What is the need of innovation ?

BIEiSrE ares 41 © 7

What is hybrid vehicle ?

g 359 & B § T R B BT =St B S SN AT ?
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What things should be inspected daily by a driver before starting the engine ?

TR B T F F H oG B el S © 7

How tyres are checked for proper working ?
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[Objective Type Questions]

Full form of CPU is ............ .

R AR oo HANOT &l I&ET B

Oral communication is an example of ............. communication.

fererorees arrll H ofd F L frg & &

Interjections have ............. mark at the end.

Full form of BDC is ............ .
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24. FAFH B v g f Fed 2 1
Chassis is also known as ............ unit
25. oo F I H GAE HF A FTd ol 1

.............. is called the backbone of an engine.

26. 59 BHBA TSN Bl oooeennnnnn. TSl § SEEd B 1
Engine converts chemical energy to ............. energy

27. FT A 599 q ARE H A B &l 1
Cooling system removes eXCeSS ............. from the engine.

28. U A S A FHoll Bl ABT B cevvvnnnnnnn. R WJFART HT Bl 1
Propeller shaft transmits power from engine to ............. of vehicle.

29. IR-URA aeT H URAT ... T M B B 1

30. SW ...oounnn.... 9 g ®Y HA &l 1
Dumpers are operated by .............. engine.
31. U & TN TeT B IXEH T AT covvennennn 2 B 1

The coefficient of friction at the interface of wheel is usually ................ .

32. 1885 ..ovvvenn.... q T dfeshd 99 & Hied H fEoET )X Ui fHar am 1

In 1885, ............. designed and patented the first practical model of engine.
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33. WS TRU H IWT .oooevnnnn qrel & FEier % fe e 2 1
(A) & (B) Hed
(©) = (D) g T
Spoked wheel is used for construction of ................. vehicles.
(A) Light (B) Medium
(C) Heavy (D) None
34. U A Bl GIST oo BC ¥ & | 1
(A) 3000 (B) 3500
(C) 4000 (D) 4500
Potter's wheel was invented in ................. BC.
(A) 3000 (B) 3500
(C) 4000 (D) 4500
35. Fausd ST dEEd ...l A & foT 9 B Bl 1
(A 1 (B) 2
(C) 4 (D) 10
International driving licence is valid for ................. year.
(A) 1 (B) 2
) 4 (D) 10
36. HIX EHA T ..o | H 9 g 1
(A) 1960 (B) 1978
(C) 1988 (D) 2002
Motor Vehicle Act was passed in ................. year.
(A) 1960 (B) 1978
(€) 1988 (D) 2002
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37, i T% 39 SS9R e 2 1
(A) faust (B) T
(C) b (D) S
................. is not a web browser.
(A) Windows (B) FireFox
(C) Chrome (D) Opera
38. BH Bl TH ...ooonnnn GO 1
(a) FS (B) Fg
(C) rer (D)
Home keyisa ................. key.
(A) Command (B) Control
(C) Nevigation (D) Function
39. i qfehe ‘B’ F ST SHGHE & Th 6 Bl Hled F [T Bl &l 1
(A) Ctrl+X (B) Ctrl+C
(C) Ctrl+V (D) Alt+C
................. shortcut key is used to cut a part of a document.
(A) Ctrl+X B) Ctrl+C
(C) Ctrl+V (D) Alt+C
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